 (
Lösungen
 
(Klassenstufe
 
1)
) (
12
) (
Klas
s
enstufe 
1
 
(
L
ö
s
u
n
ge
n
)
) (
N
r
.
 
7
3 – 6 – 9 – 4 – 7 – 10 – 17 – 
1
1
N
r
.
 
8
3., 6., 10.
) (
N
r
.
 
12
9, 6 und 8 Bilder sind in den Kästchen zu sehen.
) (
N
r
.
 
15
) (
a)
 
1 – 3 – 5 – 7 – 9 – 
1
1 – 13 – 15
) (
b)
 
4 – 6 –
) (
– 10 – 12 – 14 – 16 – 18
) (
N
r
.
 
9
Unten sind mehr Perlen.
N
r
.
 
10
Unten sind mehr Perlen.
) (
N
r
.
 
16
1 – 5 – 7 – 9 – 10 – 12 – 15 – 18 – 20
N
r
.
 
17
20 – 19 – 16 – 15 – 
1
1 – 8 – 5 – 4 – 2
) (
N
r
.
 
1
1
Im linken Feld sind mehr Punkte.
N
r
.
 
20
) (
6
) (
2
) (
4
) (
4
) (
5
) (
8
) (
5
) (
N
r
.
 
21
5 + 3 = 8
9 + 6 = 15
) (
N
r
.
 
25
5 – 2 = 3
7 – 3 = 4
6 – 4 = 2
) (
7 + 4 = 
1
1
1
1 + 6 = 17
) (
8 – 3 = 5
9 – 1 = 8
8 – 7 = 1
) (
N
r
.
 
22
2 + 3 = 5
) (
3 + 4 = 7
2 + 7 = 9
4 + 3 = 7
) (
N
r
.
 
26
) (
9 + 1 =
) (
14 – 4 =
) (
17 – 5 =
) (
1 + 5 = 6
) (
19 – 7 =
) (
16 – 3 =
) (
18 – 5 =
) (
15 – 4 = 
1
1
) (
N
r
.
 
23
) (
10 + 6 =
) (
12 + 2 =
) (
N
r
.
 
27
12 – 4 = 8
18 – 9 = 9
15 – 8 = 7
) (
1
1 + 4 =
) (
13 + 5 =
) (
14 – 6 = 8
13 – 5 = 8
1
1 – 7 = 4
) (
16 + 3 =
) (
12 + 7 =
) (
N
r
.
 
24
) (
6 + 8 =
) (
6 + 5 = 
1
1
) (
7 + 5 =
) (
9 + 3 =
) (
9 + 9 =
) (
7 + 8 =
) (
N
r
.
 
29
) (
N
r
.
 
31
) (
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19
) (
2
) (
8
) (
10
) (
4
) (
6
) (
14
) (
12
) (
1
) (
4
) (
5
) (
2
) (
3
) (
7
) (
6
) (
1
) (
5
) (
3
) (
10
) (
2
) (
7
) (
4
) (
2
) (
10
) (
6
) (
20
) (
4
) (
14
) (
8
) (
12
) (
15
) (
14
) (
12
) (
18
) (
14
) (
18
) (
19
) (
16
) (
15
) (
19
) (
12
) (
13
) (
10
) (
12
) (
13
) (
10
) (
13
) (
8
) (
17
) (
12
) (
5
) (
4
) (
9
) (
4
) (
6
) (
2
) (
8
) (
4
) (
10
) (
8
) (
9
) (
3
) (
7
) (
5
) (
2
) (
8
)
